VY, V4
R
L% )
NS
e

RE45HKR TER - #HHEX

L
O

&
2

<7

Ny,

FEmE B os-1500

%

AR XER (4 150m, B) L=292.0m

U L=27.00m

BRARER (XF, 15cmiE, 8)
L=23.2m (3%) +25.0m (&) =48.2m

| |

AR XER (HER, 15em B) ARMARER (BR, 15cp 8) AR RER (BR5em
L=1.0mx 11A=11. L=1. 0mx 11& =11. 00 L=2.0mx 5& =10. 00i

LM L=25.00m
AR XER (AR, 15cm, B) L=5. 0mx 294+2. 5m x 24 =150. Om

AR XER (R4 150m, B) L=241.0m

SEMER 550

RER

BRERIIEE W=8.Tm

fETER L=307m

YEIA—IN—LA4 I (28)  A=2,670m2

YEIA—N—L A4 (2B)
1BE %HEIRFHEAs top20 t=50

2y a—k PK-4

2fEH hE IZAAKIEAs top20 t=50
w4 a—k PK-4

BrRtER4SRRBEBERETE
FEE - BN

S=1/500 ‘E%%‘ 1/1

mEmEEEMES



